The province of Cérdoba has an extension of 13.769 km2 and, according to 2010 data, a total
population of 805.857 people. We know also that the number of women is 409.999, 315.109
of them are between 15 and 49 years old.

This year were born 7.988 children, although 26 of them finally died during the year. The
number of people dead was 6.627. We know that 14.588 people left Cérdoba, while 12.050
came from outside to live in the province.

Calculate the following:

Natural growth rate
Net migration

Real growth
Mortality rate
Fertility rate

Birth rate

Infant mortality rate
Density of population

Write the development of the operations, to avoid forgetting any step.

You have more solved problems on the web to practice.

Have a nice weekend!



